Rig @ ur Maths & Level Numeracy & Mathematics

Name: Date:
2~ MNU 203a Bronze Outcomes 1-4
o Calculate
7 654 b2 4 6021
+ 321 - 13 X 4

S~ MTH 203c Bronze Outcome 1
& Calculate

72+9-7

A8 MNU 209b Bronze Outcome 2

Joe has £770 but has to pay
his television bill and car
insurance.

Satellite Insurance

PayUs | Direct Debit
£47-87 7| £28:42 oy

Once he has paid these bills, how S
much does he have left to spend for
the rest of the month?

~ A2~ MNU 202a Bronze Outcome 3

2 i

& Write 6 pounds and
4 pence as pounds.

£~ MNU 210b Bronze Outcome 1
& Change 74 seconds into
minutes and seconds.

My score:

What have I learned so far 37? www.rigourmaths.com



http://www.rigourmaths.com/

Rig @ ur Maths

& Level Numeracy & Mathematics Ipap

Name: Date:
%~  MNU 203a 6old Outcomes 1-4
o Calculate
98:53 39-35 53-89
+35-67 6-15 x 6

8

6 8-96

4~ MTH 217a 6old Outcome 2
Calculate the size of the
missing angle.

61°

i~ MNU 203b Silver Outcomes 3 & 4
& Calculate;
(@) 8x12
(b) 63=+7

Z.. MNU 211c Gold Outcome 2

e
i

& Calculate the area of this

rectangle.
5m
6m

A%~ MNU 210c 6old Outcome 4
&8 How long would it take
a hiker to walk 15 miles
while maintaining an
average speed of 5 miles

per hour?

My score:

What have I learned so far 37? www.rigourmaths.com
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